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Today is .
April May June

Trace and write.

0 1 2 3 4 5 6 7 8 9 10

1234 1 2 3 4 5 6

4 is 4 spots away from 0. 4 - = 0

4 is 6 spots away from 10. 4 + = 10

Is 4 closer to 0 or 10?  4 is closer to

0 1 2 3 4 5 6 7 8 9 10

1 is spot away from 0. 1 - = 0

1 is spots away from 10. 1 + = 10

Is 1 closer to 0 or 10?  1 is closer to

What is the difference 
for 5 - 5?

0 1 4 3

nine

0 9 3

12 - 9 = ______

1 2 3

word root pro can mean forward or for process, procession, proclamation
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Color the pencil holder with the greater number.

5 3 6 2

2 9 5 9
Write the missing numbers to complete the number line.

50 62 74 82

Use these numbers:  68, 57, 78

How many blocks? Write the missing letter to spell round.

rou d r und roun

4 + 1 = ______

5 11 41

one

9 7 1

3 - 3 = ______

5 9 0

Write the missing sign.

8 2 = 10

six

ten four eight
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Amy has 2 coins. They equal 50¢. What coins 
does Amy have?

There were 15 red shirts at the thrift shop. Ms. 
Rodriguez bought 4 of them. How many red 
shirts were left?

Emma counted 42 parents at the picnic. Erin 
counted 11 more than Emma. How many 
parents did Erin count?

Alex ate 24 ounces of chocolate ice cream. 
Jason ate 24 ounces of ice cream. How 
many ounces of ice cream did they eat in all?

Write the hidden word.  Start at one letter and then move either left or right.  Continue in same direction.

S T

A

ND

E L

E

VE

N

S T

O

NE
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Make change.  You can use $20, $10, $5, $1, 25¢, 10¢, 5¢,  or 1¢.

Use the fewest bills and coins to make $52.17.

$20 $20 $10 $1 $1

10¢ 5¢ 1¢ 1¢

Use the fewest bills and coins to make $25.36.

$5

1¢

Use the fewest bills and coins to make $31.56.

Use the fewest bills and coins to make $37.54.

9 0
- 4 5

2 9 + 2 0 = 6 6
- 5 0
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across

2. i

3. wo

down

1. ca

3. a

1.

2.

3.3.

Complete the pattern.

1 2 3 4 5 6

4 8 12 16 20 24

3 6 9 12 15 18

Which shows a way to 
make 9?

6 + 3 6 + 5

4 + 3 10 + 5

5 tens and 6 ones

5 560 56

There are 7 blue cars 
and 3 black cars.  How 
many cars are there?

3 10 14

THINK T K T H I N K L E T H I K O I S G N V Z P I

ON G T Z F A N C O N D S O O Y X O N E N O O N

EVERY B C R Q V M E V E R Y V U E V E R Y T I M E

SAIL E A U I A J K S A I L N I W S I S A D I B X

word root per can mean through percolate, permeate

6 + 4 = 8 + 3 =
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Adam loves oatmeal. He 
eats it every day. On 
Monday he ate 3 bowls 
of it. On Tuesday he ate 
2 bowls of oatmeal. On 
Wednesday he ate 3 
more bowls. On 
Thursday he ate 1 bowl. 
On Friday he ate 2 
bowls. How many bowls 
of oatmeal did he eat in 
all?

Jim has five red trucks 
and seven blue trucks. 
He gave half of his 
trucks to Tim. How many 
trucks did he give to 
Tim?

Babe Ruth hit 2 
homeruns on Monday. 
He hit 4 homeruns on 
Tuesday. How many 
more did he hit on 
Tuesday?

The light never went out.

What is the sum of
4 + 2 + 2?

7 5 9 8

4 is more than

3 5 4

9 + 0 = ______

6 9 9

five Write the words into the boxes.

all
its

Count by 5s.

11 16
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Complete the number bonds puzzle.  Fill in the missing boxes with the numbers 1 through 
29.  You can repeat and use any of those numbers. You do not have to use all the numbers.
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Help Robot find Rover.  Color the boxes that 
have a sum of 11, 12, or 6 to make a path.

6 + 5 = 2 + 9 = 9 + 5 = 8 + 6 = 1 + 1 = 7 + 2 = 1 + 8 =

9 + 1 = 2 + 9 = 7 + 4 = 5 + 1 = 1 + 8 = 6 + 4 = 2 + 8 = 5 + 3 =

1 + 1 = 1 + 7 = 2 + 5 = 7 + 5 = 7 + 5 = 4 + 1 = 1 + 5 = 6 + 7 =

9 + 1 = 4 + 9 = 6 + 2 = 8 + 9 = 6 + 5 = 1 + 2 = 7 + 7 = 6 + 4 =

5 + 8 = 6 + 2 = 1 + 8 = 9 + 1 = 1 + 5 = 2 + 9 = 3 + 8 = 7 + 3 =

6 + 5 = 3 + 1 = 4 + 5 = 6 + 3 = 4 + 6 = 4 + 7 = 8 + 3 = 2 + 4 =

9 + 9 = 5 + 5 = 6 + 8 = 1 + 9 = 4 + 9 = 4 + 6 = 9 + 9 =
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Cross off the letter that does NOT belong.

A, D, G, I, J, M, P, S, V, Y

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.

12, 14, 16, 18, 20, 22, 23, 24, 26, 28, 30

Why does __________ not belong in the pattern?
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Color in the boxes.
9 or 6 = green,  4 or 0 = red,  
5 or 2 = yellow,  7 or 1 = blue

What is the hidden number?

2 5 5 2 5 2 4 1
2 6 4 7 4 5 6 6
2 7 6 9 7 2 4 1
5 5 2 2 2 5 1 9
4 6 7 0 6 5 0 7
7 4 6 0 1 5 7 0
6 9 1 4 9 2 6 4

4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

7 - = 5

6 tens and 3 ones

63 3 6

6 - 5 = ______

1 7 4

seven

7 3 9

THREE E H T H R I E T A G W K C T J B P T H R E E

FROM F O M G R H N O F R O M V W O O R F R O N F

SLOW R S L U H X S W S L L S L O W Y A O O W E O

JUST H U I J U S T S J T J N K J U A T J V D Y O

SANK N S N N A S A N K S E N K K L A A P I A A S

SICK S P S I K S X Q K I K I S I C K C I C W K A

BOX A B X Y B L W S J U B I X E N B O X F O B D

nine
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Write the missing vowel.

ver

b nk

m sk

Write the missing vowel.

l ugh

h ppy

bon s
Fill in the blank with a number.

> 32 42 = > 28

sixteen

16 18 0

7 is more than

8 6 7

1 + 0 = ______

1 7 13

9 - 8

Circle the two numbers that make 7.

2 5 1 1 5 6

4 1 2 3 5 6 2 3

6 + 7

Count by 1.

4 7

is 2 more than 4.

tens ones

Number = 

12 - 3

14 - 7

5 + 5 =

3 + 3 =

5 + 2 =
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8 + 1 = 

    9 + 1 = 

Circle all the ways to make 
8.

8 + 2      3 + 5      7 + 1
4 + 4     6 + 2     6 + 3

16 = 6 + 10

   13 =  + 10

      15 =  + 10

9, 11, 13, ,  17, ,  

Count by 2s.

Write the number that 

is 10 more.

 15 

      50 

           76 

How much is this?

91
5-

Circle the fifth letter.

4,  4,  D,  4,  A,  D,  5,  B,  F,  
6,  8,  B,  B,  5,  8,  F,  B,  3,  9

How many nickels do you 
need if you want to have 
exactly 15 cents?

6
1-

9
9+

19 -  = 15

word root miss can mean let go or send admission, emissary, intermission
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Complete the pattern.

5 10 15 20 25 30 35

2 4 6 8 10 12 14

8 12 16 20 24 28 32

25 30 35 40 45 50 55

3 4 5 6 7 8 9

12 15 18 21 24 27 30

5
6+

8
5+

3
6+

7
2+

5
5+

9
5+

7
6+

1
9+

1
6+

word root infra can mean below infrared, infrastructure
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